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CC Geometry Homework

Arc Length of aCircle

1) Inacirclewhose radiusis 30, what isthelengthof | 4)  Find the radius of a circle inwhich an arc that
anarc (in terms of xr) which contains 100° ? contains 60° has a length of 3=. [Show all work.]

2) Inacirclewhoseradiusis9, find the length of an
arc (interms of ) which contains 45° ?

5)  What isthe radius of acircle inwhich an arc that
contains 144° has a length of 36z ?

3) Inacirclewhoseradiusis 33, find the length of an
arc, interms of =, which contains 240° . [Show all
work.]
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